10.3 u Substitution Definite Integrals PRACTICE

| Evaluate the definite integral.
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CAREFUL this is NOT u substitution for 1 + 9t>

That's right, Mr. Brust put in an inverse trig function just to keep it real!
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- If you got this right, you are a boss.

Don't sweat it if you missed it. - X (e N\:
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FREE RESPONSE
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An equation for the tangent line is v = 4 + I( x+3).

(¢) lim g(x)= lim f(x)= lim v25-x* =4 1 : considers one-sided limits
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1 : answer with explanation
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Therefore, lim g(x) =4
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#(=3)= (-3) = 4
So. 11'11_13g(x) = g(-3).

Therefore, g is continuous at x = —3.
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